18250

13300

Y62750

'15200

Y6275,

¥ m S=1:250

‘ T
LR
VR
LRI
RDAIRLLIAN
ARG
AR
XA A o
el =

7

L
G G
;*ﬁiiﬁ!ﬁ» 2
gﬁé‘:/‘ -

BEL YTy REH
(No-41+6. 5~No. 41514

N

Jov\vaE
FTEEA-10T 7m0

%
X
9%
X
X
X

o5
o0
oo
oo

R
R

el

o
o

X
25

oS
oo
%!
%!
3R
XX
ooks
oot

o
2%
o2t

%
So%es
dogele!

oo
o
o

<2
<R
<2
<2

08
%0%%¢
oo
003!
&S
X
2R

:g <
%:
<2

.:.
KL
%
5
%2’

%t
:‘
K
LR

$E§$
:Esast
KRR

zg
g%
<2

%
S5
G5
&
L
5

%

\\

| 3
E Pl §

752700

X18300

‘62600

R1KL WMBAR =-BER

EBRHFRIFE (1)
BHRE% () Bt ER
IEER| xETHEER (158
B @4 FTER
& R 1:250 ‘EE&% 1/
= # &
EXEL | EEREBRARRB (XEFS)



(% 1 93)
RER (XRETE)

IBFMER % - BIER

R1EL

EBRHFRIFE (1)
() BP9t KR
fit W o

44.369

IHEH | £ETHTER

I F 4
BREE
H&E %

H

C1

LEbDTHD,

(CAD1E)

T

#

XHBRE, BEERELL LI

=23m

METERL

000 "0+

5381

1

P
E o

1500

70 |[R,

0SL 0F+0v ON|

VeL=

1100
1:500

SV
SH

560.252

L=

8300

0GL '8l+v€ "ON

VCL=50 R

g
%

=43.551

KBN14 H

B R A @




AEREETE =110

NO. 41+8.3
& 3 )

" Al *

NO.41+8.3 B o+ | ¥
%

GH=44.600
FH=46 685 Wt ETH

K %8 B
#RD
HEEE * ®
mEL | 3v2U-+
REFEmY
REIFEMYREL
Bt

HEET

750, 1500

BIRR R

DL=39.000

)

_No.4T

GH=44.460
FH=46.979

K %8 B
#RD
HEEE * ®
mEL | av2U-+
REFEmY
REIFEMYREL
Bt

R T

No.41+12. 3~No. 41+18. 628
R1KL WMBAR =-BER

DL=39.000 HHHRTE (1)
() BP9t

EXETHBETER (F1593)

AREHE

1:100 ‘ BEES

BEREDRERRER (XEFTE)




o NO. 1+12. 000 SHEREHERX(1/2) NO. 2+10. 000
. s

=1:100 GH=41. 546
FH=41.163
3500 - 3500 NO.1+12.000
T & W i8R % % 8 5040
‘ mEx ﬁi%[f 46565 LN
| Y _DL=46. 415 =46. B \_J\sss 4172
B *
20 /.-30 -2 20.7 | %\\
i 2 0469 5040 RIEB 7000
T — ( ;1»
3164 1876 2R [
— — - 09 3840 60
_— T arvyoy-+ ~
~~ HOE L ~
7000 \N ‘ TRI7I b Ne ‘
- = ‘s X%
<0 | 3000 |
NG b \\
- v41.720 | > AS AS y v ~ ‘ -
o ] =
~ B mI L‘ : —— I — s
= T ==
~_ ig I L LEL ] ~e, =L =
3000 % ~ ‘ N\ |
\\ \ ) } :
~ \\
\\ \\
\\ \\
\\ \\
>~
DL=35. 000 DL=35. 000
NO. 2
NO. 1 2 m| m B | 8 &
& W i8R % % 8 I
" A 4
NO. 1 AT I 7000 NO. 2 prpes
GH=41.769 233 GH=41.662 ® ot
7000 FH=41.769 ® ot 3500 - 3500 FH=41.193 b33 29
12 1.4 T T T
3500 » 3500 R 478 3 +T
ppir 50 ‘ BEX X 45 5040 (=S )
ERD | /T DL=46. 153 v DL-46.903
- Sy
‘ EEX ﬁ;%l)fL*AS 845 avouch o i = 00 T
| V_DL=45.695 = 200, 45 2470 5000 BEL FRIFILE v L .00 | T —— 4. FARI7NE
o 7000 T
\__1.“ 4400 60 r
77777? L2, 77777i\
7000 ~
- o | N S
X 00 | X 0o 1=
g E N 3000 =
- AS AS v ~ 7
. §Io o I ' ~
- ~=2 L J = N
~
3000 7
\2,\00 ‘ S
- 5
\\
\\
\\
\
DL=35. 000 DL=35. 000
NO. O
E I 8 % % 8 NO. 0
moA R GH=42.569
BE FH=42. 025
%
R’ 0.1
7000
K4EB
3500 » 3500 FRET e
T R EEZTR
% X
‘ MEX FRIFIE
| V_DL=44. 645
- o o J ~ e, 200, 45 ‘
7000 o | 0
Nga }J?
0 v 14
5 AS s <
R K = !
~ |
R1EX WBFHER £ -HBER
TEF A mmars (1)
BHRAE| () BFHER
IHEEM| xETHEER (F158)
Hm A HFEEEEKR(/2)
DL=35. 000 R 1:100 HEES 4/
= # &
ERED | EHERANKRARRB (XEFS)




EEEEIR(2/2) NO. 5

=1 GH=40. 600
§=1:100 FH=40. 830 B

T
B R
343
KYEB
BRD

WEX
Vv _DL=44.722

arvo -k
],'

2 0p FRAI7Lb
<

.

~

7.
N» %

DL=35. 000
.3+13.000

W o|m %
a | E® B
NS W | t®
NO. 3+13. 000 e ik
P4 854 BT T
ERD FRIEB
gD
aryy-+
BEE WEX FRIFILH avsu-t
‘ - WEX
o DL-46 144 | 7 DL=46.294 | mrx = FRIFILE
| | ¥ DL=t5. 724 Vv _DL=45.874

DL=35. 000 # DL=35. 000
%

B R
b33
RIEB
#RED

arvyoy-k
TAI7ILE

BEE WEX 5040
v DL=46.753 |, DL=46.903

3840

V41.320

] =

R1EX WBFHER £ -HBER
EBRHFRIFE (1)

(E) BP9t B R

EXETHBETER (F1593)

EEEMME (2/2)
DL=35. 000 ! ‘

1:100 HEES

BEREBRERRR (XBETE)




BELz VAERELER

BREL7 z Vo AERIREHR

BIEL 7 RERKFER

@ D13 @ D13

avy)—+t
ock=24 N/mm2

————
(O

20135
=270

&
H
b

GER 1.0m%Y)

1ASYHEE HE HE
0.80 3.2
0.80 3.2

3@250=750

JE 1000

=
Jo

1200

0.66 2.6 [
1.42 5.7 [
1.22 49

2@250
=500

1.00 16.0
0.93 3.7
0.49 1.0

BIELIx >V RER
% # i) s
av s Y —k | 028=24N/mm2
2 # | BEHEED
HLavyy—k | 028=18N/mm2
HLaER |HLavAE
£ B #  |RC-40 t=150mm

EPEEEEIEIE

750

3@250

M IX

gl [ ] s BIEL 7 = > RERHG

200 ® (1. 0L Y)

= (3) 4-D13x 660
(D4-di3xsoo  (2)4-D13x800 : ravER ' L
1.483

1.483

1.244

(@)2-d13x 1,250 1.413

ELZIL

(4) 4-D13x1430 4-D13% 1230 — 330

@)2-013x1,420

R1EX WBFHER £ -HBER
EBRHFRIFE (1)

BEEL7z o RAXZHIE. MIEFRHRET 5. (X) BERER
&o T, 2.OmZ1EFFEEFHERET D &, W RETBEER (F198)

BRLIz VAEREER

()16-D13xL toq_lod 2-D13% 490

(1) 4-D13x930 i 1220 ‘@Eg%
()1-d13x1,490
@)1-d13%1,490

BEREBRERRR (XBETE)




EERER BEFTR:

NO.40+19.50 FEMX

A#RAR L=18.

& iffl X

§=1:200

EHABK AFER L=43. 1m

38400

7000

39050

VvV _44.599

V44 60
W

1.50% \|_1.50%

3500 _ 3500

6. 996

FHRE
0.74

V_46.943

403
V _46.903

VvV _44.560

Vv _42.000

TP=40.000

EHEAER BFRTR: L=42. 4m

#EEIHEIR

Vv _42.000 Vv _42.000

BRE L=14.Tm

V_42.000

EEIHIH

L=10.0m

A#RAR L=18.0m

L=10.0m
HEBROELVIZ TEABX=HEX] €77,

TP=40.000

BrichHf-oTIE, SHEEM-15cm (RBE5cm, B#E10cm)

ZHRLELOMNELIREL D,

EHAERK A LR L=43. 1m

38400

7000

39050

No. 41+17.0

)

No. 41+14.7

BIEL D1 REH

V_44.599

J—

=

VvV _44.599

FIA

XTEAROELVIE TEBX=6%X] #577,
BrichHf-oTIk, HEEM-15cm (KEb5cm, EH#K10cm)

ERLELOAEREIREL D,

VvV _46.903
VvV _46.903

v _44.599 I

V_46.903

VvV _46.903 | No. 41

v 46.l)96

VvV _46.903

v %707 |50
No. 40+18, 50

Q
O

| 3000
700 &i )

BREE L=14.Tm

FIAN

#EEIEIR

L=10.0m

BEER S ERIE L L=79.1m A=317m2

XiEav o )—+F
0 28=18N/mm2

Xiparoy—+t

10.0m& Y

% #

) % %

avyy—+

028=18N/mm2 0.253

] 2

INEUEIEY 3.10

As t=5cm) L=4.0m

V_44.560

EERBERENEK (ARt 52—&8)

$=1:100

No. 41+ 3.00

No. 40+19. 50
vV _46.996 Vv _46.878

No. 41+ 6.50
V_46.753

KEWROELVIE TERX=HEX] 277,

R1EX WBFHER £ -HBER
EBRHFRIFE (1)

(E) BP9t B R

EXETHBETER (F1593)

AEREEEHER

= ‘IZIE%%

BRERRR (XRBETE)




